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Đổi biến sang tọa độ trụ 

Thể tích của vật thể cần tìm 

 
2

2

2 1/2 1 3

0 0
1.

r

r
G

V dV r dzdrd



−

= =      

( )
2 1/2

2 2

0 0
(1 3 ) / 8K r r r drd



 = − − =   

 

0.25 

 

 

 

 

0.25 

 

0.5 

IV 

 

1 

 

 

 

Đặt 
sin 2 2 53 , 7xu xe y v x y= − = −   

6 , 2y xu y v x= − =   

( ) ( )

( )
4 3

0 0

4

0

2 6

2 6

(6 27) 156

x y

D D

I v u dA x y dA

x y dy dx

x dx

= − − = − +

= − +

= − + = −

 

 



  

 

0.25 

 

0.25 

 

0.25 

 

0.25 

 

2 Thông lượng  

.
S

Flux dS= F N   

(3 )
E E

div dV x dV= = − F   

Đổi biến sang tọa độ cầu 
2 2

2 2

0 0 0
(3 sin cos ) sin 16Flux d d d



        = − =      

 

 

 

0.5 

 

 

 

0.5 

V  a) Giá thành 
2 2200 300 100 2C r rh r  = + +   

b) (25,60) 2,084,096C =  đồng 

c) 

 
. .

100 (4 3 2 2 ). 300 .

r hC C r C h

r h r r r h 

  + 

= + +  + 
  

(25,60) 29104C   đồng 

 

0.5 

0.25 

 

 

 

0.5 

 

 

 


